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•••• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk iz'u 40 gSaA  
 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 40 questions. 
•••• iz'u-i= esa lcls Åij fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
 The Code No. on the top of the question paper should be written by the candidate 

on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 
strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 
complete question paper, no claim in this regard, will be entertained after 

examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k % 

    (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    çR;sd ç'u ds vad muds lkeus n'kkZ, x, gSaA 

 (ii) ç'u Øekad 1 ls 30 rd oLrqfu"B ç'u gSA çR;sd ç'u 1 vad dk gSA 

 (iii) ç'u Øekad 31 ls 34 rd vfr y?kqÙkjkRed ç'u gSA çR;sd ç'u 2 vadksa dk gSA çR;sd ç'u dk 
mÙkj 30 'kCnksa ls vf/kd ugha gksuk pkfg,A 

 (iv) ç'u Øekad 35 ls 38 rd y?kqÙkjkRed ç'u gSA çR;sd ç'u 3 vadksa dk gSA çR;sd ç'u dk mÙkj 
yxHkx 50 ls 60 'kCnksa esa gksuk pkfg,A 

 (v) ç'u Øekad 39 o 40 rd fucU/kkRed ç'u gSA çR;sd ç'u 5 vadksa dk gSA çR;sd ç'u dk mÙkj 
150 'kCnksa esa gksuk pkfg,A 

 (vi) lHkh fucU/kkRed ç'uksa esa vkarfjd NwV miyC/k gSA ,sls ç'uksa esa ls vkidks dsoy ,ddsoy ,ddsoy ,ddsoy ,d gh ç'u 
djuk gSA 

General Instructions :  

    (i) All questions are compulsory. Marks for each question are indicated 

against it. 

 (ii) Question No. 1 to 30 is of Objective Type Questions. Each question carries 1 

mark.   

 (iii) Question No. 31 to 34 is of Very Short Answer Type Questions. Each 

questions carries 2 marks.  Answer to each question should not exceed 30 

words. 

 (iv) Question No. 35 to 38 is of Short Answer Type Questions. Each questions 

carries 3 marks.  Answer to each question should not exceed 50 to 60 words. 

 (v) Question No. 39 and 40 is of Essay Type Questions. Each questions carries 

5 marks.  Answer to each question should not exceed 150 words. 

 (vi) Internal choice is available in all essay type questions. You have to attempt 

only one of the given choice in such questions.  
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Hkkx Hkkx Hkkx Hkkx –    vvvv    

PART – A 

¼oLrqfu"B ç'u½¼oLrqfu"B ç'u½¼oLrqfu"B ç'u½¼oLrqfu"B ç'u½    

(Objective Type Questions) 

1. os dksf'kdk,¡ tks fofHkUu çdkj ds míhidksa dks fo|qrh; vkosx esa ifjofrZr djus dh ;ksX;rk j[krh gSa] 

mUgsa --------------- dksf'kdk,¡ dgrs gSaA 1 

Those specialized cells which possess the unique property of converting 

various forms of stimuli into electrical impulses are called …………. . 

2. dkSu-lk dFku lR;lR;lR;lR;  gS \ 1 

(A) raf=dk dksf'kdk gekjs raf=dk ra= dh ewy bdkbZ ugha gSA 

(B) Lok;Ùk raf=dk ra= mu fØ;kvksa dk lapkyu djrk gS tks lkekU;r% gekjs çR;{k fu;a=.k esa ugha 

gksrhA 

(C) dsUæh; raf=dk ra= lHkh raf=dk fØ;kvksa dk dsUæ ugha gSA 

(D) buesa ls dksbZ ugha 

Which statement is true ? 

(A) Neuron is not the basic unit of our nervous system. 

(B) Autonomous nervous system governs activities which are normally not 

under direct control of individuals. 

(C) Central nervous system is not the centre of all neural activity. 

(D) None of these 



 ( 4 ) 1515 

1515 

3. efLr"d dk lcls fupyk fgLlk ------------ dgykrk gSA 1 

The lowest part of the brain is called ………….. . 

4. ,d ,slh vuSfPNd fØ;k tks ,d fo'ks"k çdkj ds míhiu ds rqjUr ckn ?kfVr gksrh gS] ------------ 

fØ;k dgykrh gSA 1 

An involuntary action that occurs very quickly after its specific kind of 

stimulation is known as ………….. action . 

5. ,d fuf'pr thu dbZ fHkUu :iksa esa thfor jg ldrk gSA ,d :i ls nwljs :i esa cnyus dh thu dh 

fØ;k dks ------------ dgrs gSaA 1 

A given gene can exist in several different forms. Change of a gene from one 

form to another is called ………….. . 

6. KkusfUæ;ksa dks ------------ vFkok ------------ ra= Hkh dgrs gSaA 1 

Sense organs are also known as ………….. or ………….. . 

7. dkSu-lk fl)kar p;ukRed vo/kku dk fl)kar ughaughaughaugha  gS \ 1 

(A) fuL;and fl)kar 

(B) cgq-fof/kd fl)kar 

(C) fuL;and-{kh.ku fl)kar 

(D) buesa ls dksbZ ugha 
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Which theory is not the Theory of Selective Attention ? 

(A) Filter Theory 

(B) Multi-mode Theory 

(C) Filter-attenuation Theory 

(D) None of the above 

8. dkSu-lk dFku vlR;vlR;vlR;vlR;  gS \ 1 

(A) vius i;kZoj.k ds lkFk laxr rjhds ls O;ogkj djuk laKkukRed 'kSyh dgykrk gSA 

(B) çR;{k.k drkZ dh vko';drk,¡ ,oa bPNk,¡ mlds çR;{k.k dks dHkh Hkh çHkkfor ugha djrhA 

(C) çR;{k.k dh çfØ;k esa çR;{k.k drkZvksa dh vge Hkwfedk gksrh gSA 

(D) buesa ls dksbZ ugha 

Which statement is false ? 

(A) A consistent way of dealing with our environment is known as cognitive 

style. 

(B) Needs and desires of a perceiver never influence his/her perception. 

(C) Perceiver plays a key role in the process of perception. 

(D) None of the above 
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9. dqN çkR;f{kd Hkze % 1 

(A) lkoZHkkSe ugha gksrsA 

(B) lkoZHkkSe gksrs gSa vkSj lHkh yksxksa esa ik;s tkrs gSaA 

(C) lkoZHkkSe gksrs gSa ysfdu lHkh yksxksa esa ugha ik;s tkrsA 

(D) buesa ls dksbZ ugha 

Some perceptual illusions are : 

(A) Not universal. 

(B) Universal and found in all individuals. 

(C) Universal but not found in all individuals. 

(D) None of these  

10. tc ge nks ,d leku lh/kh ykbZuksa dk çR;{k.k NksVh vkSj cM+h ykbuksa ds :i esa djrs gSa rks bl Hkze 

dks D;k dgrs gSa \ 1 

(A) vkHkklh xfr Hkze  

(B) ewyj-yk;j Hkze 

(C) oS;fDrd Hkze 

(D) buesa ls dksbZ ugha 
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When we perceive two straight equal lines as short and long lines, this illusion 

is known as ……………. ? 

(A) Apparent Movement Illusions  

(B) Muller-Lyer Illusions 

(C) Individual Illusions 

(D) None of the above 

11. QkbZ-?kVuk ,d ------------ gSA 1 

(A) Qksfc;k (B) fnO;-LoIu 

(C) vuqcU/ku (D) Hkze 

Phi-phenomenon is ……….. . 

(A) Phobia (B) Day dreaming 

(C) Conditioning (D) Illusion 

12. çcyu dks ml ifjfLFkfr ls gVk ysus ds dkj.k vf/kxe vuqfØ;k ds yqIr gksus dks ------------ dgrs gSaA  

1 

Disappearance of a learned response due to removal of reinforcement from the 

situation in which the response used to occur is called ……….. . 

13. ,d u;k O;ogkj lh[ks tkus ij mls n'kkZ;k ugha tkrk tc rd mls n'kkZus ds fy, çcyu ugha fd;k 

tkrk] bls ------------ vf/kxe dgrs gSaA 1 

A new behaviour learned but not demonstrated until reinforcement is provided 

for displaying it, is called ……….. learning. 
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14. dkSu-lh fof/k okfpd vf/kxe ds v/;;u esa ç;qDr gksus okyh fof/k ughaughaughaugha gS \ 1 

(A) vuqcU/ku fof/k  

(B) ;qfXer lgpj vf/kxe 

(C) Øfed vf/kxe 

(D) eqDr iqu% Lej.k 

Which method is not the method used in studying verbal learning ? 

(A) Conditioning Method  

(B) Paired Associates Learning 

(C) Serial Learning  

(D) Free Call 

15. fo'ks"krkvksa ;k xq.kksa dk lewg tks fdlh fu;e ls tqM+s gksa] D;k dgykrk gS \ 1 

(A) fl)kar (B) lkekU;hdj.k 

(C) lEçR;; (D) buesa ls dksbZ ugha 

A set of features or attributes connected by some rules is known as ……….. . 

(A) Theory (B) Generalization 

(C) Concept (D) None of the above 
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16. çk.kh dh ,slh ekufld rFkk 'kkjhfjd voLFkk tks çk.kh dks mldh orZeku vko';drk dh iwfrZ djus ds 

fy, m}sfyr djrh gS] D;k dgykrh gS \ 1 

A mental as well as physiological state which arouses organism to act for 

fulfilling the current need, is known as ………….. . 

17. og çfØ;k ftlds }kjk lwpuk Le`fr ra= esa igyh ckj iathÑr dh tkrh gS rkfd bldk iqu% mi;ksx 

fd;k tk lds] ------------ dgykrh gSA 1 

A process by which information is recorded and registered for first time so that 

it becomes usable by our memory system is called ………….. . 

18. dkSu-lk dFku vlR;vlR;vlR;vlR;  gS \ 1 

(A) [kaMh; fof/k }kjk vYidkfyd Le`fr dh {kerk c<+kbZ tk ldrh gSA 

(B) lwpuk vYidkfyd Le`fr ls nh?kZdkfyd Le`fr esa foLrkjijd iwokZH;kl ds }kjk ços'k djrh gSA 

(C) os lHkh lwpuk,¡ tks gekjs laosnh xzkgd çkIr djrs gSa] iathÑr dh tkrh gSA 

(D) buesa ls dksbZ ugha 

Which statement is not true ? 

(A) Through chunking it is possible to expand the capacity of short term 

memory. 

(B) From short term memory, information enters the long term memory 

through elaborative rehearsals. 

(C) All informations which our senses receive are registered. 

(D) None of the above 
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19. -------------- Le`fr esa thou-pfjr ls lEcfU/kr lwpuk,¡ gksrh gSaA 1 

……………. memory contains biographical details of our lives. 

20. Ldhek HkwriwoZ vuqHkoksa vkSj Kku dk ,d laxBu gS tks vkus okyh ubZ lwpuk ds fo'ys"k.k] HkaMkj.k rFkk 

iqu#)kj dks çHkkfor djrk gSA 1 

(A) vlR;  (B) lR; 

(C) vfuf'pr (D) buesa ls dksbZ ugha 

Schemas refer to an organization of past experiences and knowledge, which 

influence the way in which incoming information is interpreted. 

(A) False (B) True 

(C) Uncertain (D) None of the above 

21. ^iqu#)kj vlQyrk* fdlls lEcfU/kr gS \ 1 

(A) vf/kxe (B) vfHkçsj.kk 

(C) vLi"V lEizs"k.k (D) foLej.k 

'Retrieval Failure' causes …………… . 

(A) Learning (B) Motivation 

(C) Vague Communication (D) Forgetting 
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22. dkSu-lk dFku lR;lR;lR;lR;  gS \ 1 

(A) euksfoKku dh tM+sa /keZ esa gksrh gSaA 

(B) euksfoKku dh tM+sa lekt'kkL= esa gksrh gSaA 

(C) euksfoKku dh tM+sa laKkukRed fodkl esa gksrh gSaA 

(D) euksfoKku dh tM+sa n'kZu'kkL= esa gksrh gSaA 

Which statement is true ? 

(A) Psychology has its roots in Religion. 

(B) Psychology has its roots in Sociology. 

(C) Psychology has its roots in Cognitive Development. 

(D) Psychology has its roots in Philosophy. 

23. euksfoKku ,d lkekftd foKku gS D;ksafd ;g ekuo ds O;ogkj dk v/;;u mlds-------------- lanHkZ 

esa djrk gSA  1 

Psychology is recognized more as social science because it studies the human 

beings in their …………… context. 

24. og çfØ;k ftlesa ç;ksT;ksa ls euksoSKkfud ç;ksx esa viuh ekufld çfØ;kvksa vFkok vuqHkoksa dk foLrkj 

ls o.kZu fd;k tk;s] -------------- dgykrh gSA 1 

A procedure in which individuals or subjects in psychological experiments 

asked to describe in detail their own mental processes or experiences is known 

as …………… . 
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25. çFke euksfoKku ç;ksx'kkyk dh LFkkiuk fyiftx ¼teZuh½ esa dc gqbZ \ 1 

(A) 1879 (B) 1885 

(C) 1889 (D) 1899 

When first psychology laboratory was established in Leipzig (Germany) ? 

(A) 1879 (B) 1885 

(C) 1889 (D) 1899 

26. ;fn nks ;k nks ls vf/kd O;fDr Lora= :i ls fdlh ?kVuk fo'ks"k dk v/;;u djsa] rks nksuksa ds yxHkx 
,d gh fu"d"kZ ij igq¡puk ---------------- dgykrk gSA 1 

(A) O;fDrfu"Brk (B) fo'oluh;rk 

(C) oLrqfu"Brk (D) O;ofLFkr izfØ;k 

If two or more persons independently study a particular event, both of them, to 

a great extent arrive at the same conclusion, it is known as ……………. . 

(A) Subjectivity (B) Reliability 

(C) Objectivity (D) Systematic Procedure 

27. leL;k dk ,d dkYifud mÙkj <w¡<uk -------------- dgykrk gSA 1 

A tentative answer of the problem is known as ……………. . 

28. ç;ksx esa çk;% ,d ;k vf/kd çk;ksfxd lewg vkSj ,d ;k vf/kd -------------- lewg gksrs gSaA 1 

Experiments generally involve one or more experimental groups and one or 

more ……………. groups. 

29. tc ,d pj (X) dk eku c<+rk gS vkSj nwljs pj (Y) dk eku de gks tk;s] rc ;g -------------- 
lglEcU/k dgykrk gSA 1 

As the value of one variable (X) increases, a decrease in Y variable too takes 

place, it is known as ……………. correlation. 
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30. dkSu-lk dFku vlR;vlR;vlR;vlR;  gS \ 1 

(A) lao`f) 'kjhj ds e/; ls çkjEHk gksrh gS vkSj ckn esa nwljs vaxksa dh vksj c<+rh gSA 

(B) cPps uSfrd fodkl dh fofHkUu voLFkkvksa esa ls xqtjrs gSa tks vk;q ls lEc) gksrh gSA 

(C) fd'kksjkoLFkk esa fd'kksj ;kSu lEcU/kh ekeyksa esa #fp dk dksbZ çn'kZu ugha djrkA 

(D) fd'kksj ds fopkj vf/kd vewrZ] rdZiw.kZ ,oa vkn'kZoknh gksrs gSaA 

Which statement is not true ? 

(A) Growth proceeds from the centre of body and moves towards the more 

distal regions. 

(B) Children pass through the various stages of moral development which are 

age related. 

(C) In adolescence, adolescents do not show any interest in sexual matters. 

(D) Adolescents' thoughts become more abstract, logical and idealistic. 

HkkxHkkxHkkxHkkx    – cccc    

PART – B 

¼vfry?kq mÙkjh; ç'u½¼vfry?kq mÙkjh; ç'u½¼vfry?kq mÙkjh; ç'u½¼vfry?kq mÙkjh; ç'u½    

(Very Short Answer Type Questions) 

31. ijlaLÑfrdj.k D;k gS \ 2 

What is Acculturation ? 
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32. p;ukRed vo/kku dks çHkkfor djus okys ckgjh dkjdksa ij laf{kIr ppkZ djsaA 2 

Describe briefly the external factors affecting selective attention. 

33. Le`fr jpukRed çfØ;k dSls gS \ 2 

How memory is a constructive process ? 

34. lajpukokn D;k gS \ 2 

What is 'Structuralism' ? 

HkkxHkkxHkkxHkkx    – llll    

PART – C 

¼y?kq mÙkjh; ç'u½¼y?kq mÙkjh; ç'u½¼y?kq mÙkjh; ç'u½¼y?kq mÙkjh; ç'u½    

(Short Answer Type Questions) 

35. var%òkoh xzfUFk;k¡ D;k gksrh gSa \ ih;w"k xzfUFk ds ckjs esa vki D;k tkurs gSa \ 3 

What are endocrine glands ? What do you know about Pituitary Gland ? 

36. çkR;f{kd laxBu ds fl)karksa dk laf{kIr o.kZu djsaA 3 

Describe briefly the principles of perceptual organization. 
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37. voLFkk ekWMy ds vuqlkj Le`fr ra= ds rhurhurhurhu çdkjksa dk o.kZu djsaA 3 

Describe the three memory systems according to the stage model. 

38. tk¡p dh fof/k ds :i esa çk;ksfxd fof/k dk laf{kIr o.kZu djsaA 3 

Describe briefly the experimental method as a method of enquiry. 

HkkxHkkxHkkxHkkx    – nnnn    

PART – D 

¼¼¼¼fucU/kkRed fucU/kkRed fucU/kkRed fucU/kkRed ç'u½ç'u½ç'u½ç'u½    

(Essay Type Questions) 

39. çkphu vuqcU/ku ds fu/kkZjdksa dk o.kZu djsaA 5 

Describe the determinants of classical conditioning. 

vFkokvFkokvFkokvFkok    

OR 

fØ;k-çlwr vuqcU/ku ds fu/kkZjdksa dk o.kZu djsaA 

Describe the determinants of operant conditioning. 

40. ckY;dky ds nkSjku fofHkUu i{kksa esa fodkl dh fo'ks"krkvksa dk o.kZu djsaA 5 

Describe the characteristics of development in the various aspects during 

childhood. 
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vFkokvFkokvFkokvFkok    

OR 

fd'kksjkoLFkk esa fodkl dh eq[; fo'ks"krkvksa dk o.kZu djsaA 

Describe the main features of development in adolescence. 

S 


